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 -I آ���� ،��	�

�ا�� ��آ� 
�آ	 �
�ر  ����

���� ��را��  ����ذ�  !�� ، أ/+�ء 
-�رآ�� *, 
+�*�� ��(� m= 80 kg�)��ح 
  &%ل ه"ا ا��
��8ز �� &�ص. ا��	��4 (�3 ا��1�2 ��
  ا�
9�د إ�3 ��� ا�9��! ��2 �+1<��f�� �8 �ة ����9 ��ى ا��E>�ك 
>�*�C �)�ة و�1 @?ه��ل <=/�1 ا�8�اء،.��

�8>�Gآ� و�H3 ا�H+�� I�9آ
  . ��@�/    f=50N�IK ا<J�2 ا��Hآ�، و
+�Hه� 

���� اE��%ق !��� ا���	�� *, ���� ا��>�ن، و!��4 (��1 ��8ز ا��2 ��ة -1 ,* 'T


Q ا��P اα=45°1* ،,(*O@�ا��� ��� !>�ن زاو!� ��  4�	+

��� وأ*),  ��
1��1، و<H)4 ا���9د�� ا�	
+�1 ا�����1)1-ا�->�(ا���	�� *�ق (��
 Jر�
��� U1H@ ، :x(t)=0,125t2  U1� x <>�ن ��آ� 
�آ	 ���@ 

t�1��W��@ و.  
1-1 -Xدون ا(���ر ا��� ���1�> ,* �����
�W ا�)�ى ا���ر��1 ا����)� (�3 ا���	�� &%ل ه"J ا� .  
2-1 -
 �)�� Yأ��  �*��
 Q�� �+) ��	��    .�8mآ	 �
�ر ا�
1  �1�� ا�-�ة- 3-1) T  (���ر أن ا�)�ة�@ ،T

   .g=9,8m.s-2 ��9, ./�@�� &%ل 
���� اE��%ق��
1��1 و
�Z% @	او!� -2(��
��ا 
 �1��/ ����
 ,* 4��	��
�9 ا�! β=40°�8��1� ��@�/ �)��@ ,(*Oا P��� ���+��@ 2m/s ،U1H@  

��8ز ا��2 ��ة /�@��  4 (��1��!'T

δ=30°Q<>�ن زاو!� �� �Z��1��.  اJ�2>E ا���ازي ���� ا�� ��  .’Tأو

��8ز ا�3-�2  
 ��	��
���H وأ*)�1، ��د ^��91 ��آ� 
�آ	 �
�ر .  
���Gة @�9 @��[� ��� ا���2 @����(� ا���@)�، !���\ ا� ���� أن ا�)�)
��	��
� ا���ة ا�	
+�1 ا��, !��`���8 �>, !���� (  ا��Hآ� (�3 ��_ ا�)��. ا�.  

1�, !>�ن زاو!� -4(��

+�Hر  3�) ��
  ��_ ا�) ،�1Z�@ �)�� ون�@  ��	��
���� ا����@)� ا���4 ا� ,* β'= 28°,(*Oا Pا�� Q
  .  
1�� ا���ا�� ا���@)� - 1-4� IK� �8� ك�<��Eة ��ة ا�G ض أن��K�   f=50N. �+) ��	��1�� ��(� ��آ� ا�� ��
��ه+� ا����� ا��Hآ�1، أو 41���@ 

 �*��
 �9��300m.  
107 (��� أن ا�)1�� ا�J"8� �1(1(H ا���(� ه, - 2-4km/hف ؟%�&Eه"ا ا ��K> �1آ ،P(*  
1  �1�� ا���(� ا�f=kv2 �!�H:���1 @�(���ر أن ا�-�ة ا������� �)�ة ا��E>�ك *, ه"J ا������، <�`��E�@ �1 ا���(� ��Y ا�9%�� ا��- 3-4) ، 

�)����  �!�Hا� ���� ا����ق !��_ @���غ ا�)1
�� أن ^�ل �) ،��	���� .,�9� : k= 0,33 N s² m-2   

  <X1�H ا���X ا�)��1, ا���9�, �J"8 ا����@)�؟ - 4-4 4@����  (148,1km/h) ه� ��1�>  ه"ا ا�

  
 

   
�� ا��K���1 @�ر!I �+�*, إ^�ر ا������ ا���9��9�O �1ب ا�)�ىf�9ا� ,* �
�(�
  رو��1 ا���g1ء @����1ا��1 ا�"ه��1 *,  2003، ا� h1K1+<
 ،*�ز أ��ري 

 �*�����D=21,69mر!��i ر
, ا���2، 
�2% ا���H�1 ا�
��م 
�رب أ�� ا�%(�1  ا��+�*�1  @�را�� ا��
�1 ا�Z�K	ة، @�8ف <j9@ �!�H .  *, ا��
�H> 3�) ة�)����9)� @���
�1 ا�Z�K	ة 
  �U1 ا����*� ا�����2. 1  إ��2ز E(��ا�9�ا
� ا��� وا���(� �im�@D*� إ�j9@ 3�) J�*�> 3 ا���1�9ت ا�

 �1Zا���V0=13,7m/s �8�%��ا �nH� رضOو(�� ا���2 (  ��_ ا h=2,62m) �<-ا� �n�آ�ة ا)-1-أ�H�� ,>�
��9

�1 و<�H!� ، ا���9ن @����م ��
�1Z�82 ا���(� ا����
1�0�� ا�	او!� ا��, <>���8 V

���,(*Oا J�2>Eا Q
 α=43°.              
(1�1
   ا��را�� ا�+�H� �!�nآ� ا��

 ���9

�<�O�@ Pرض و
H�رJ ا��أ�, o أ��f (xoy)��را�� ��آ� ا���2 أ/+�ء ا��
�1 ����ر  oy   
��آ	 �
�ر @ ��! ,(*Oا Jر�H
 �

oxQا��nH� �+) ��2 إر����8 
  ^�ف ا�%(Y، أ 4��+
 �8*   


	 ب).1-ا�->�( ��_ اOرض ��v�1�2Hا���2 ذات ا�>��� ا� X2H� ρ=7,1.103 kg/m3 .  

  ^�ف ا�8�اء (�3 ا�X/ ،��2 <�1�9 وز�FA  �8 أ(�G �1�9> Pة دا*�9 أر&��1س1-1- �(���  . P ا�

8��� @��+�FA@1  أن 
2��1 ��8�اء .  ��P ل  H�9, ا�>��� ا��ρ=1,2kg/m3.   

��82 ا����رع 2-1-  1�<  (1+� ,��Wن ا���41 ا�)����@ Ga

��آ	 �
�ر ا������2�           .   
8�� <=/�1 ا��>�ك ا�8�اء� .  

-3-1 Qi��OG أ/�q أن <�1�9 إ��ا/�1ت 
��82 ا�
�����  X�9�)��آ	 �
�ر ا���2 *, ا�xoy(،    
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  :  <>�Y (�3 ا�->� ا����,�nH� �+) t   2/2ص

 0( ) ( cos )x t V tα=2 و
0

1( ) ( sin )2y t gt V t hα= − + +.    
    . ا��+�� <�1�9 
�9د�� 
��ر ا�4-1��2-
-5-1 Yأ�� tFر���
�ور 
�آ	 �
�ر ا���2 @)�� ا� �nH� r!ر�> .  

��ر2)Wا�� Y)%�2ز ا��1  إ�H�� �1>�
��9�   ����Z ا���Hآ�ة ا�
��)E �2ز�1  إ�H�� Y!ا���ر \

�<�H> ،�1!� ا�2�ا�Y ا��, !���Y ا�GE`�ل (��81 أ/+�ء ���9���ر ا���Hآ�ة ا�Wل ا��%&  
�"ا ��ر . !�8ف ا���رب 

 �1Zا���(� ا��� ����1ا��1 ا�"ه�U1� ،�1 أن ا�s ، ��9&"ا @19  اE(���ر α وزاو!� اmر��ل V0درا�� <=/1� �1��@ 	Z�Kا� Y)%ا� Q

)�ر��  ��)E �
�� �
�

3 ا�"ي !�>  أن <��`� !��nH� J إر��ل ا���2 ه� �Oاh'=2,45m . �1ت+H+�
  ا� �<�G 3�) �
H* ،آ�ة�H�أ�2	 @�ا��� ا���H�ب ����� 
  ا�

���W *, ا�->�1  �
��ر 
�آ	 �
�ر ا�2 . 3 و2ا� 3+H+
 -�2!��ز ا�->. V0، و �1�� ا���(� ا����G ,* ��α �1Zوط 
�Hدة �	او!� اmر��ل !��2 آ� 
 �1Zا���(� ا��� ��1� �1/=>V0 �*��� @��+��� i�! �8* α_ <=/�1 زاو!� اmر��ل3-أ
� ا�->�.α=41° ا�����2 @��+��� �	او!� إر��ل /�@�� D (�3 ا�

��@�/ �1Z�@ �)���.  
�+H+�1ت ا�->1-2-@ ���9��E�@   1�2�1 3 و>uت ا�K1f�ا��  
 Y��+! �
 أم <�<QK إ�3 أن - أم E <�`�1-  أم <+�jK- ا���DQK>�> ��2ا����*� : ا&�� 

�!��  
 jK�+> X/ ى�
� ��1� v��>- 1�11  ا�������Hا�  
��!�، *, آ�   
 QK>�> X/ �1�د ��1� v��> إ�3 أن jK�+>  أم :  
-1-1-2Zا���(� ا��� ��1� QK>�> �
�+)  �1V0او!� إر��ل	� ���+��@ α��@�/ .  
1�� زاو!� اmر��ل 2-1-2-� QK>�> �
�+) α �1Z�@ �)��� ���+��@ V0��@�/  .  


�Hد<X1�H��  1 ا����*� α وزاو!� إر��لV0 و��1ة mر��ل ا��1Z�@ �)��@ ��2 � @1  أن ه+�ك إ
>��31 و2 
  &%ل ا�->�1  2-2- D ,* ��2�� ا�
w� �1�  .��9ب ا�)�ىا������ ا���9

  
  
  

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

 
 
 
 
 
 
 
 

 

 


